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- HREEEREE 179,869,800
IENPS N [5YA [EEE] B EXi B BAfT & £%5 wE
1lGl [0 2 A 2 2155100 FRE) 150000 H 1 5 750,000/ £ 35100 A 384, 3 B . E{ffi150,000
1]lGl [o 2 A PRI I% ) 50,000 @ 1 5 250,000
1]lGl [o 2 A BiE A — RV MER - DTV I AR 25,000 @ 1 5 125,000{ 1 N>+ TOEIE E LENRI T1E¥50,000
1lGl [0 2 A e 50,000 BERS 1 5 250,000
1]lGl [o 2 A aI—E—HY—EXRK 400 =@ 1 625 250,000 —HHBERLEL
1]lGl [o 2 A RAVINEE 2,800 BERS 1 90 252,000[}fj58 R F v F6HII R * 3N * 5EI(EF)
1]Gl [0 2 A 2E—HR(KINKOSE) 10] % 1 12500 125,000
1[RES| 4] 1 A CilZ3=EERS 3,000,000 (@ 1 1 3,000,000
1[RES| 4] 1 A SOIE TAURERIE 1,500,000 (= 1 1 1,500,000
1|RES[ 4] 1 A B 40,000] FERY 5 1 200,000
1|RES[ 4] 1 A 15000 H 5 2 150,000
1|RES[ 4] 1 A 2000 B 2 5 20,000
1|RES[ 4] 1 A BESEHERE R B 2000 B 2 10 40,000
1|RES[ 4] 1 A AV IRAE 200000 B 2 4 160,000
1[RES[ 4] 1 A L3RE A 100,000 @l 1 1 100,000
1|RES[ 4] 1 A HE 3000000 [ 1 1 3,000,000
1|RES[ 4] 1 A HEESR) 8,500] BRS 1 35 297,500
1[RES[ 4] 1 A HEEFBH) 7.500] B¥RS 3 35 787,500
1[RES[ 4] 1 A REXBE 2,000 B 5 35 350,000
1[RES[ 4] 1 A [ER=E - 15000 @ 4 5 300,000
1|RES[ 4] 1 A REE 1,500] @ 6 35 315,000
1|RES[ 4] 1 B 2I5F (300N FRE) SummerForul 500,000 B 1 1 500,000
1[RES[ 4] 1 B B SummerForul  200,000]  [@ 1 1 200,000
1|RES| 4] 1 B HEFEE) SummerForur 8,500 BRI 1 4 34,000
1|RES| 4] 1 B HEEH) SummerForur 7,500 BRS 3 4 90,000
1[RES[ 4] 1 B REXBE SummerForuf 50,000 B 1 1 50,000| &4 A 338 & £ A%
1|RES| 4 1 B [h=k-1 SummerForur 15,000 [a] 2 1 30,000
1[RES[ 4] 1 B : RAAVINEE SummerForur] 20,000 B 1 2 40,000
1[RES[ 4] 1 B ZitE BEEZHRE SummerForul 1,500,000]  [A] 1 1 1,500,000
1[RES| 4] 1 B FIRIZIAE JE—HR(KINKOSZ) SummerForur 200,000 (@ 1 1 200,000
1|RES 4 1 B ? HE SummerForur 300,000 [a] 1 1 300,000
1[RES[ 4] 1 B HeEDH) SummerForur 8,500 BERY 1 3 25,500
1|RES| 4| 1 B HEEF8) SummerForur 7,500] FRS 3 3 67,500
1]RES| 4| 1 B RERBE SummerForur 30,000 =] 4 3 360,000
1|RES| 4 1 B BRE SummerForur 15,000 =] 4 1 60,000
1|RES| 4] 1 B HEE SummerForu 1,500 = 4 3 18,000
1|RES| 4| 2 B 215 (00 AFF1E) EERME 400,000 =] 1 1 400,000
1[RES[ 4] 2 B TaCI OB AIVE =B 200,000] [@ 1 1 200,000
1|RES| 4] 2 B HEESR) 2B 8,500] BRS 4 4 136,000
1|RES| 4] 2 B 2 HILE SFME 100000 H 1 4 400,000
1|RES| 4] 2 B REXBE REXBE SFME 20,000 [&] 1 4 80,000
1[RES| 4] 2 B REXBE fEA% SBE 15000 [ 1 4 60,000
1|RES| 4] 2 B RED a—E—H4—EXRK SBE 400 @ 100 4 160,000
1[RES[ 4] 2 B ZitE RAVINEE SFE 20,000 B 2 4 160,000
1|RES| 4] 2 B FIRIRAZ 2F—HK(KINKOSE) SRE 100,000 [&] 1 4 400,000
1|RES| 4] 2 B 2 HE 2Bt 200,000] [ 1 4 800,000
1|RES| 4| 2 B e HECER) SFE 8500] B¥R 4 4 136,000
1|RES| 4] 2 B REXBE REXBE SFME 2,000 [A] 2 4 16,000
1|RES| 4] 2 B E e HEEB) SFME 7,500  BERS 8 2 120,000
1|RES| 4] 2 B REXBE REX R SFME 2,000 [&] 2 2 8,000
1|RES| 4] 2 B FIRIRAZ 2F—HK(KINKOSE) 2EE 100,000 [ 1 2 200,000
1|RES| 4] 2 B 2 HE 2FME 100,000 [ 1 4 400,000
1|RES| 4] 2 B REE SFE 10000 [ 1 2 20000[BF-EFHK
1|RES| 4] 2 C REERE RfiTEEESR 1000000 [@ 1 1 1,000,000
1|RES| 4] 2 C B#HEEFBH) 3 7,500(  BERS 8 2 120,000
1|RES| 4] 2 C BE REXBE 3 Y 2,000 [&] 2 2 8,000
1[RES[ 4] 3 A EiEH K2EREA—IY 60,000  [a] 1 12 720,000
1[RES| 4] 3 A FAGIED) RFC-JPD 10,000] R— 600 1 6,000,000
1|RES| 4] 3 A #ELER RFC-JPD 40,000 BERY 3 1 120,000
1[RES| 4] 3 A NERE RFC-JPDERL 1 0 0
1|RES| 4] 3 A HEESR) RFC-JPD 8,500 BERS 1 0 0
1[RES[ 4] 3 A HeF8) RFC-JP®D 7.500] BERY 30 4 900,000
1|RES| 4] 3 A REE RFC-JPD 1,500] @ 4 5 30,000
1[RES[ 4] 3 A BE REXBE RFC-JPD 40,000] @ 1 4 160,000{32 B % 4 A £ A%
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1[RES[ 4] 3 A Hile RiEH RFC-JP D 1] 2500 #%& 0 1 150,000

1[RES| 4] 3 A =B Weba T YERLE A RFC-JPQDfE[ 1,000,000 @ 1 1 1,000,000

1|RES| 4] 3 A EESS il 2 A RFC-JPD 1AL 1 0 O|HHAR (JPNICSATSYIEFN D)
1|RES| 4] 3 A tE HIEREE —a2—ARL%{ 3000000 [ 1 3 9,000,000| ENR - BR5% 2 3A

1|RES| 4] 3 A ER BRERE R —a—XL%{ 600000 [& 1 3 1,800,000

1|RES[ 4] 3 A e HeEEE) —a1—RL % 8,500 FBRA 1 6 51,000

1|RES| 4] 3 A Hie #HEEEH) —a—2ZL A 7.500] B¥RE 3 6 135,000

1|RES| 4] 3 A REXBE MREBE —a1—RL 3 2,000] [& 4 6 48,000

1|RES[ 4] 3 A HEE RiEH —a—XL%{ 300000 [& 1 3 900,000

1|RES| 4] 3 A EHa HTMLERRZ X E —a2—RL%A{ 300000 @ 1 3 900,000

1|RES| 4] 3 A Hie #HEEEH) —a—2ZL A 7.500] B¥RE 12 2 180,000

1|RES| 4] 3 A REXBE REXBE —a1—ZL %A 2,000 Al 4 2 16,000

1|RES[ 4] 3 A Hile CGHERLEHE —a1—2ZL %A 60,000 [al 1 1 60,000 E & IR EKELI-BE
1|RES| 4] 3 A ? HE —a—XL%A{ 200,000 [& 1 1

1|RES| 4] 3 [ EitE HIERFTE JPNICS A3 4000000 [@ 1 1 4,000,000

1|RES[ 4] 3 C HEie HEEE) JPNICS A T 8,500| BRS 1 3 25,500

1|RES| 4] 3 [ Hile HEEZEE) JPNICS A T 7.500] B¥RE 3 3 67,500

1|RES| 4] 3 [ SBE HRER JPNICS A T 1,500]  [@ 4 3 18,000

1|RES| 4] 3 c MBS BE MREBE JPNICS A T 2,000 [& 4 3 24,000

1|RES| 4] 3 C BT JPNICS A T 2500  #& 1 200 500,000

1|RES[ 3] 1 A E¥in-1 j EFN) mDNkit B (] 7,500] R— 1 300 2,250,000

1|RES] 3] 1 A E5. %lluREOE?R) mDNkit B (] 7,500] R— 1 10 75,000[2_R—% x 5[E]

1|RES| 3] 1 A EiE HARERE mDNkitBi%&(] 5,000,000 A 1 6 30,000,000

1|RES[ 3] 1 A VIrIITEAZY [VINIITEAR mDNkit B $(2001.4~9):SRERIR 1518 1,000,000{0S, TSaL—4%E
1|RES[ 3] 1 A HEEERBAZS ko mDNKkitB$(2001.4~9):EHERIB BE B L R 2,000,000|PC, JL—R7%E

1|RES| 3] 1 A Ein-1 BIERE (K ER) mDNkit A>T | 7,500 R— 1 50 375,000| FE 5

1|RES| 3] 1 A EERE(ER) 7| 7,500 "= 1 4 30,000[2R— x 2[@]

1|RES| 3| 1 A BREEE 7| 1000000 A 1 6 6,000,000

1|RES| 3] 1 A B mDNkit*~ 7| 5000000 % 1 1 5,000,000|BINDARER YA # 5 D AT B
1|RES| 3] 1 A HEGEE) IDN-TF(2001 8,500 BFRS 2 72 1,224,000[3 A x A2[@ x 1248
1|RES| 3] 1 A HEEEH) IDN-TF(2001 7,500|  BRS 2 120 1,800,000/5 A x 2@ x 1248
1|RES[ 3] 1 A REXEE IDN-TF(2001 30,000 @ 1 24 720,000/ B 2[E x 124 B

1|RES| 3] 1 A [=hi=E 4 IDN-TF(2001 15,000 B 1 24 360,000/ H 2[a] x 12 A

1|RES| 3] 1 A 4% 1 IDN-TF(2001 1,500 o] 1 240 360,000/10A x A2[E x 1248
1|RES| 3] 1 A aE—R IDN-TF(2001 10 o4 10 240 24,000[10 A x A2[@E x 127
1|RES| 3] 1 A HEES) IDN-DEV(200 8,500]  BRS 2 12 204,000[1 A x B1E x 12/ 8
1[RES| 3] 1 A HEEEH) IDN-DEV(200 7,500|  BRS 2 90 1,350,000{3 A x B 4@ x 64 B +3A x A1[8 x 64 A
1|RES[ 3] 1 A REXBE IDN-DEV(200 30,000 @ 1 30 900,000/ B4Rl x 64 B+ A1E x 64 A
1|RES| 3] 1 A [=hi=E 4 IDN-DEV(200 15,000 B 1 0 O|EAMIZAL

1|RES| 3] 1 A 4% 1 IDN-DEV(200 1,500 o] 1 228 342,000/8 A\ x 4[] x 67 A +6A x B1[E x 645 8
1|RES| 3] 1 A aE—R IDN-DEV(200 10 o4 10 228 22,8008 A\ x A4E x 6 A +6A x A1E X678
1|RES[ 3] 1 A HHEER) IETFH 3R AR S 8500| B¥RH 8 0 NEZ A

1[RES| 3] 1 A HEEEH) IETFH 3R AR S 7,500|  B¥RE 8 6 360,000/2 A x 3[@

1|RES[ 3] 1 A REXBE IETFH 3R AR S 330,000, @ 1 6 1,980,000(2 A x 3[@]

1[RES| 3] 1 A [=hi=E- 1 IETFH 3R AR S 18,000 B 1 36 648,000(2\ x 638 X 3[]

1[RES| 3] 1 A SEBEEME 40,000, @ 1 6 240,000/2 A x 3@

1|RES| 3] 1 A RVIVREE 20,0000 [ 1 6 120,000[2 A x 3@

1|RES| 3] 1 A BERR 10,000/ [@ 1 6 60,000[2 A x 3[@

1|RES| 3] 1 A 2158 (300 N HH1ZR) 600,000 H 0.5 2 600,000/ B x 2[al

1|RES| 3] 1 A PI=DEL L2 % 20,000, @ 0.5 2 20,000 % B x 2], RYY—>DH
1|RES| 3] 1 A HEEE) 8,500 BRI 4 2 68,000/ 1 A23[@

1[RES| 3] 1 A HEEEH) 7,500|  B¥RE 4 4 120,000(2 A x 2[E]

1|RES[ 3] 1 A REXEE 30,000 @ 1 2 60,000/ 2[al

1[RES| 3] 1 A =Rk 15000/  [@ 1 2 30,000/2[8]

1|RES| 3] 1 A a—E—H—EXK 400[ [ 1 600 240,000/300 A x 2[A]

1|RES[ 3] 1 A RAAYINGE 2,800| B¥RE 4 4 44,800/2 A x 2[@]

1|RES| 3] 1 A Enmu;zsg a2E —HK(KINKOSZ) 10 & 20 600 120,000/300 A x 2[E]

1|RES[ 3] 1 A ;a1=.@m%§ TEREHBE 15000 @ 1 2 30,000/ 2[al, ISDNEI#3 &

1|RES| 3] 1 A SIHE (50 NFHE) 200,000 H 0.5 3 300,000/ B x 3

1|RES| 3] 1 A PI=DEL L2 Y% 20,000, @ 0.5 3 30,000 % B x 3[E], RYY—>DH
1|RES| 3] 1 A HEEE) 8,500| BRS 4 3 102,000[1 A x 3@

1[RES| 3] 1 A HEEEH) 7.500|  B¥RE 4 6 180,000(2 A x 3@

1|RES[ 3] 1 A REXEE 30,000 @ 1 3 90,000/ 3@l

1|RES| 3] 1 A =Rk 15000/ [@ 1 3 45,000/3[@]

1|RES| 3] 1 A a—E—H—EXK 400[ @ 1 150 60,000(50 A\ x 3

1|RES| 3] 1 A E¥in- RAAVINEE 2,800| B¥RE 4 6 67,200/2 A x 3[@

1lRes| 3] 1 A EEES ] O2E —H(KINKOSZ) 10 & 20 150 30,000(50 A x 3
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1[RES[ 3] 1 A TERBIEE 15000 @ 1 3 45,000[3[E], ISDNE 5 #

1|RES| 3] 1 A KI5 BN 100,000 B 1 2 200,000/2 8 x 1[A]

1[RES| 3] 1 A PI=DEL L2 % 20,000, @ 1 2 40,000|28 x 1[@], 29— DH

1|RES| 3] 1 A HEGEE) 8,500/ BRS 8 2 136,000 1A X 2H x 1[A]

1[RES| 3] 1 A HEEEH) 7.500|  B¥RE 8 4 240,000[2 A x 2H X 1[A]

1|RES[ 3] 1 A REXEE 30,000 @ 1 1 30,000/ 1@l

1[RES| 3] 1 A =Rk 15,000, [A] 1 1 15,000/ 18]

1|RES| 3] 1 A a—E—H—EXK 400[ [ 1 20 48,000/30 A x 4[EI(AM, PM?D2H)

1|RES[ 3] 1 A RAAYINEE 2,800| B¥RE 8 2 44,800[1 A x2H X 1[]

1|RES| 3] 1 A a2E —HK(KINKOSZ) 10 & 50 30 15,000[30 A x 1@

1|RES| 3] 1 A TERBIEE 15000/  [@ 1 3 45,000/ 1[8], ISDNE 5 &

1|RES| 3] 1 A BER 7000 A 1 30 210,000/30A x (R 2[E[+#&z 1[8]) x 1[8]

1|RES| 3] 1 A MINC 1,500,000 £ 1 1 1,500,000

1|RES| 3] 1 A W3C 500,000, £ 1 1 500,000

1|RES| 3] 1 A Unicode 500,000, % 1 1 500,000

1|RES[ 3] 1 A REXBE 330,000] [&] 1 6 1,980,000/2 A x 3[a]

1[RES| 3] 1 A [=hi=E- 1 18,000 B 1 36 648,000/2 A x 658 X 3[@

1[RES| 3] 1 A RESNE 40,000, @ 1 6 240,000/2 A x 3@

1|RES| 3] 1 A RV REE 20,000, @ 1 6 120,000[2 A x 3@

1|RES| 3] 1 A 3 BERR 10,000/ [ 1 6 60,000/2 A x 3[@

1|RES[ 3] 2 B VIrIITEAZE |[VINIITEAR 1,000,000 1 1 1,000,000(0S. T3aL—4LEIPEEEDEE)
1|RES[ 3] 2 B HaafmmEBAZ O 3,000,000 1 1 3,000,000/ PC, JL—%273 L (PE XA D HIB)
1|RES[ 3] 2 B BIER Bl R 300,000 1 12 3,600,000/IPv6 A 717 EIRFEIPE XA D EB)
1|RES[ 3] 2 B T HHEER) 8,500 2 12 204,000/1 A x A1[E] x 124 B (PEEERDEB)
1[RES[ 3] 2 B HEEZEEH) 7,500 2 60 900,000/5A x A1[E] x 124 B(PEEENDEIB)
1|RES[ 3] 2 B REXBEE 30,000 1 12 360,000/ B 1[E] x 12 AIPEXHDHIS)
1|RES[ 3] 2 B LRk 15,000 1 12 180,000/ A 1[8] X 124 A (IPEE AN HIB)
1|RES[ 3] 2 B HEE 1,500 1 96 144,000[8 A x A1 x 124 AIPEEEDEB)
1|RES[ 3] 2 B JE—R 10 20 96 19,200/8 A x A1[E x 124 B(IPE XL NFEB)
1|RES[ 3] 2 A HHEER) 8,500| 8 0 O|EARMICHL

1|RES[ 3] 2 A HEEEH) 7,500] B 8 3 180,000{1.A x 3[al

1|RES[ 3] 2 A REXEE 330,000, [@] 1 3 990,000[1A x 3@

1|RES[ 3] 2 A [=hi=E-1 18,000 B 1 18 324,000/1 A x 658 x 3[@

1|RES[ 3] 2 A SEBEEME 40,000, @ 1 3 120,000( 1A x 3[A]

1|RES| 3] 2 A VIV REE 20,0000 [ 1 3 60,000(1A x 3]

1|RES| 3] 2 A 3 BERR 10,000/ @ 1 3 30,000[1 A x 3@

1|RES[ 3] 2 A SEEXH IPv6 Forum 300,000 £ 1 1 300,000 IPEEHNEB

1|RES[ 3] 2 A WEXBE REXBE 330,000] @ 1 3 990,000/ 1 A X 3]

1[RES[ 3] 2 A REXBE [=hi=E- 1 18,000 B 1 18 324,000/1 A x 658 x 3[@

1[RES[ 3] 2 A SBE SESmE 40,000, @ 1 3 120,000( 1A x 3[A]

1[RES| 3] 2 A BIEE AVE=DZ:1H 20,000 [= 1 3 60,000(1A x 3[@

1[RES[ 3] 2 A REEH BERIR 15000/ [@ 1 3 45,000(1 A x 3@

1|RES[ 3] 2 A WEXBE REXBE 330,000 @ 1 1 330,0001 A X 1]

1[RES[ 3] 2 A REXBE [=hi=E- 1 18,000 B 1 5 90,000/1 A X 558 X 1[@]

1[RES[ 3] 2 A SBE SESmE 40,000, @ 1 1 40,0001 A x 1[@]

1[RES| 3] 2 A BIEE AVE=DZ:1H 20,000 [= 1 1 20,000[1 A x 1[@

1[RES[ 3] 2 A R BERIR 15000/ @ 1 1 15,0001 A X 1@

1|RES[O [? A [ ] EEBANE 750,000 R 12 1 9,900,000[ &

1|RES[O [? A HBHETFY BEAHE 550,000 A 12 3 21,780,000

1|RES[O  [? A E¥in-1 RAVINGEE 400,000 R 12 4 21,120,000|z 5y

1|RES[O  [? A Ein- EBZERER 1,000,000 A 12 0 0




